| , 2-
MM M Solehions do Test w

HL3,]’2 [ |
sxtger:,L(VJ (5): e
K= <

(Zpis)- _e™ . e™ i)
S (s+2)s+)
His)» A, B8, ¢ o Lo
N C P S.'lf“l](m)
| = At+3sa) ¥ Bsisa) + C(st2)s
s (A+8+2)ct +(3A3 BYIC)S+ Ahe

ke yer= O0=y(0]

A3 Bic- -4
L B=x  _Brace-¥
Lol C=-|
(27 WH)e L, 1 &%t ot
7 7

| %H) = W lt) L ( 4 et ie“w))
k 2

: 4+ 4

Jow\oad L@ (a 14 QAr+ 4= @,

two*s ~az (Y- 8]t -1 %1

2

X alnsiyce o yose T ant

;;i;powhéwtw %)7;\ .

B S
A YR sy
%F“ Yo b z( )

e 24436 -4
(At =0 A<t Be-%




= et

G*;':.M'u"ﬁl ﬁ-i.-ri-'{, ";.fn:

)= € o et C oo o+ il )

3.0 4% g, G = LEtor it
1"1(‘1!"-“._L‘|£a. 5 [‘!b% ; L

0 2 |
[2 flog=—="= e =
v o d 2 ; 2
R U T T e
'yr ] J'r";‘t 2. .L 11 < = ( ‘f \l:m,x,)

Spln - o homez
[ ) ﬁ., dﬂr; i
I Y P 4 +( ]zr_ t (L ] >

4 | -
01. Ivﬁ J—'}' LL]QH_‘.:%;,.]:“_;{ ..}f-‘lr"l :_'rf

GG_JA;.@'L Sl |
Jl{:*'“".{'.ia :
C{,ﬁ‘&f T"’I'C? Sih oy

te = “E", \ ,.,..l =
gt—d LJfHIJ At48 s ll): 14 JJ(hf D gy
e Lﬂ + I J(\ U_} fl{..r : = { =7 .b) O i A

AN
Lt -
i

"—':-

é]*’““’;” Sela LE}LH)* SIECMENES C ilrﬁf - r‘u-f

.Imi J_ Con c]n oNg {,ﬂﬂ -
bfj /I ): - W, ‘{Jrh (L) }‘—?* C u'_;,.’b Lﬂ&u_-;-.rl + LU

DRE C] =0 Ld'h?}: f-'.: Wy ool e T

Oz o "

4]

Wi ™M




